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saryproblem, a.k.a. Bestprize problem

·izafawrtmanmeanene
Strategy: reject

the firstI prizes;
accept the first one thatis better than those k.

Let's compute PCE) and optimize K.

· Condition on

pationofbestprizethe
LTP =

P(E) =E,B)call are equally likely)Il
?

--



·Xi =k -(ElB:) =0 (we rejectthe firstk prizes)
· fisk: assume B: occurs, i.e. it prize is the best.

We pick it iff all prizes k+1,..., it are worse-

than the first k. (Otherwise we lose it

Thus, I occursiffamongtestaprizein
reject
It Ii

-1
1 ne on the bestb
&meh, worse than

Hose

thelatter happens with prob. I
(Fit positions equally likely)

I P(EB:) =E,
=>PE)=t=i

E ** =(n() =l-alum
where x =Y

Maximize =x =Ye, P(z) =Ye,
-

A:rejectthe firstprizes, pick the first one
better themthese,
-

Probability to pick the bestis -yett
-

mark:Optimal stopping. =regardless of n!!
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